| dE/dx

estimator 1 |

L

0.25R

0.2

0.15

0.1

o
o
a1
T T T T 71

87984
2.665
1.829

Entries
Mean
Std Dev

...............................................

87986
2.66
1.834

Entries
Mean
Std Dev

||||H+|||
:
4
¢
v

—_——

e

f

1 2 3 456 7 8 9 10
dE/dx, harm?2

| dE/dx

estimator 2 |

= Entries 87984
= Mean 2.657
0.25 -5t e Std Dev 1.895
C Entries 87986
- Mean 2.654

0.2

0.15

0.1

o
o
[6)]
T T T 1

1.901

Std Dev

..........................................................................

||||l+|||

1 2 3 45 6 7 8 9 10
dE/dx, trunc40

=—=— DQM_mkFit_baseline_lowPT

0.25f

0.2¢

S I s

0.15¢

0.1

0.05

I"I"1"I"I"1"|"|‘"I"I"I‘"I"|"I"

CTTITeS OTIOF

2.888
3.516
87986
2.812
3.412

| Mean

............................................

: Std Dev

¢ | Entries
¢ | Mean

i [ Std Dev

...................................................................

o

Ratio
S

0.9¢

0.8%

P11
o=

...................................................

o

20 30 40 50 60 70 80
dE/dx number of measurements

10

—e— DQM_mkFit_baseline6iter_lowPT

| Entries
.| Mean
. [ Std Dev

......................................................................

0.9}

0.8%

Ratio
r|-1-|-r-|-|-:E-|—1—r-|-|-|- B R N D DU

................................................................

>

0

10 20 30 40 50 60 70 80

dE/dx number of measurements with saturation



	Contents
	Page 1


